T1

Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 27.2 4 h
Show how you know.
2 2 -
327 +h =41
2 - ) >
[D2 4 -+ h - |7 6 17
h - 1764-1024
= 7 é, D
h - J7¢0
= 272
2. What is the area of the screen? % /0. C/ square inches
21232 = 8704
3. Jane would like to have a screen 40 inches wide and 32 inches high. §
About what size screen will she need to buy? ; inches

Show how you figured this out

2

(’4014— 311 = S
LoD + D24y = L6LY
< = ’\/7,6?—61
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T2

Jane’s T.V.

This problem gives you the chance to:
» use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 8’-} . 8 4

Show how you know. h\\m\m&e
A

2%+ af 0 < _
o™ Iy 14:13@ﬁ 32 ,

102y

SEN)
o=y .5

2. What is the area of the screen? Bq'@ .\-\ ~__square inches

B 23228104

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? \?.%0 __inches
Show how you figured this out
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 2 . Q 4

Show how you know. 2
a 2_” b = >

%(i f—bz: 42_1 , - 32 -
L2~ 32 =b
(764 = 1024 =740

/%//0

2. What is the area of the screen? / O O. 53 square inches

29 x T

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? 5/ "2 ___inches
Show how you figured this out gl

- -
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 9? i r“;\

Show how you know.

35+ b=ua’ B
1094 + b =Y2%4 |
3 H

2. What is the area of the screen? % 5 j\lcigluare inches

dHx 37,25

3. Jane would like to have a screen 40 inches wide and 32 inches high. L&
About what size screen will she need to buy? | Q K{:l \L[ inches
Show how you figured this out ,
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Jane’s T.V.

This problem gives you the chance to:
 use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2], ZQ .4
Show how you know. P -
- —P
- 32 )
U o R 2
32 3dt it =4
2 2
4z =32 =
2. What is the area of the screen? i T4 | square inches
2
U2 - |1 e Y

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? QoY inches
Show how you figured this out
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Jane’s T.V.

This problem gives you the chance to:
» use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 4{5 H O -~ d 4

Show how you know.

| WK dhe mumtm e

\ ogdded a vordbl T 2

Cor ding Nedna. 1 dd z2%40
e pppere and C% e
b wa 40,

2. What is the area of the screen? e %’_] Q qu square inches

xg}XﬁO

3. Jane would like to have a screen 40 inches wide and 32 inches high. 5
About what size screen will she need to buy? /
Show how you figured this out

inches
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’' theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.
HIR

1. What is the height of the screen ? Z 7@ 2 . 4

Show how you know.

R E oD =27« =

2. What is the area of the screen? %O 7 2 square inches

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? 5 )
Show how you figured this out

inches
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Jane’s T.V.

This problem gives you the chance to:
 use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 7 2ins

4
Show how you know.
2 2 2
4 - 32
= 740
2. What is the area of the screen? Q 7 @’4‘ square inches

X272

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? S

inches
Show how you figured this out

- 2 (3

3 G0 ¢
2626
5 5122

& 'ﬁv_ﬂ_@ O e e
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras' theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? ( kﬂ)\ fk ZT 'Z 4

Show how you know.

L72= 17649
gZZ:. [02{7’ 71

740

32

§<A

2. What is the area of the screen? 21371.54 QQuare inches
2 e T pr 27702 = 21 PS¢y
A= \\\a (-1 | 3
3. Jane would like to have a screen 40 inches wide and 32 inches high.

About what size screen will she need to buy? ’2@(24 inches
Show how you figured this out

L’OZ;_\((OO
322: IO’Z%
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Jane’s T.V.

This problem gives you the chance to:
» use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

FEEN

1. What is the height of the screen ? { O \Ne '/ 4

Show how you know.

25 waen, ST

Ay g e
(\3 —J- .

2. What is the area of the screen? _gl) square inches

2 10 = DJO

3. Jane would like to have a screen 40 inches wide and 32 inches high. \( ‘ ! (
About what size screen will she need to buy? inches
Show how you figured this out

Lo+HO+DB3= U -
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? b - Jj GO
27,2

Show how you know.

TR
76

2. What is the area of the screen?

32

square inches

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy?
Show how you figured this out

P

e
3¢

T

67U - =

Page 3

Copyright © 2011 by Matheratics Assessment
Resource Service. All rights reserved.

Yo

inches

R

Jane's TV




Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 217.2 ) 4

Show how you know.

s bR = & - - >
3'22+ < = 420
22 = 3704 — 024
a = \/7\0’2;
2. What is the area of the screen? / 3 ér 4 square inches

32. 42 =

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? g / inches
Show how you figured this out

53'27‘[’{07_ - |
ey
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 5& ir\ 4

Show how you know.

g -
Yot 327 2 z
12,4+ 1524 = (2
(= 2086 “TZ8s=52.8 of 53

2. What is the area of the screen? L, q_( , _ square inches :

22¥53

3. Jane would like to have a screen 40 inches wide and 32 inches high.

About what size screen will she need to buy? ] /:t inches -

Show how you figured this out

. 2
R L
1624 + %= (,00 108U+ 5 = o
— )O ZL_’ - 102‘1{ .
W
50 e
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Jane’s T.V.

This problem gives you the chance to:
* use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 7.2 : 4

Show how you know.

. 2
4 7 -32 = 740 - 32 >
2. What is the area of the screen? g 70 -4 square inches
32272

3. Jane would like to have a screen 40 inches wide and 32 inches high. ~
About what size screen will she need to buy? inches
Show how you figured this out

GO*+32 = 2624
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Jane’s T.V.

This problem gives you the chance to:
+ use Pythagoras’ theorem

Jane is hoping to buy a large new television for her den, but she
is not sure what size screen will be suitable for her wall.
This is because television screens are measured by their diagonal line.

This 42 inch screen measures 32 inches along the base.

1. What is the height of the screen ? 2 '7 .20 o 4

Show how you know.
o v + 32? ':421 - = >
ql+ lOZK{ = "7{:}"/ N
= MO

AMho

g .
2. What is the area of the screen? g 0. A{ square inches

727020 32

3. Jane would like to have a screen 40 inches wide and 32 inches high.
About what size screen will she need to buy? 5 / 22 inches
Show how you figured this out of 5 j

L\.’l‘ OZ -+ 327' = C,Z - 262/\-} |
|6DO + (024 = C 262k =5012
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